Measure Perimeter

1. What is the perimeter of this shape?
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4. Which shape is the odd one out?
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Explain your reasoning.

2. Which shape has the longest
perimeter?

5. Jackson thinks the perimeter of this
shape is 9cm.
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What mistake has he made?

3. Draw a shape with a perimeter of
18cm.

lcm

<+

6. Nicola starts to draw a rectilinear
shape.
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Complete the shape to make the shortest

possible perimeter. .
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Measure Perimeter

1.24cm
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3. Any shape with a perimeter of 18cm.

4. D is the odd one out because it has a perimeter of 10cm. The other shapes have a
perimeter of 12cm.

5. Jackson has counted the squares inside the shape instead of calculating the distance
around the shape. The perimeter is 16cm.

6. Any rectilinear shape with a perimeter of 12cm.
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